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(Page 31 - Activity > <Page 36 - Activity 6 >

1c 1 The sack race.
2 «a 2 Ten children.
3 d 3 Ablue skirt and an orange T-shirt.
4 e
5 Db
<Page 37 - Activity / >
Cpage 32 - Act'tvitg 2 > Reader’s own answers
Model answers
1 yes 1 Yes, I do.
2 yes 2 My mom’s shoes.
3 no 3 Purple.
4 no 4 My blue hat and my new jeans.
5 yes

Page 33 - Activity 3

> < Page 38 - Activity 8 >

Topsy and Tim were not ' good at the

)

1c dressing-up race. 2 Their umbrellas did
2 a not open. They did not 3 come first.
3 d The twins *were not happy.
4 b

<Page 39 - Activity 9 >
(Page 34 - Activity 4 >

1 Who came first in the egg and spoon race?
1 ateacher 2 Topsy 2 What did the moms carry on their spoons?
3 sacks 4 hoops 3 Where was the egg and spoon race? Was it
5 o spoon 6 a school inside or outside?
7 Tim i 8 an umbrella 4 Who came first in the sack race?
9 red shoes 10 a white hat
11 cars 12 an egg

AN

13 children . 14 trees

(Page 35 - Activity 5 >
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<Page 40 - Activity 10

QU i O N =

)

at school

on Tuesday

Six

the sack race

the egg and spoon race

Audio script
One
A: Where is your sports day?
B: It’s at school.
A: 1 see.
Two
A: And when is 1t?
B: On Tuesday.
Three
A: Are there lots of races?
B: Yes, there are six.
A: Six races.
Four
A: And what is the first race?
B: The sack race.
Five
A: And the second race?
B: The egg and spoon race.

<Page 41 - Activity 11

1

Picture a is different because Topsy and

Tim are not happy.

Picture c is different because Topsy and

Tim are dressing up.

Picture b is different because Tim is not

wearing a hat.

<Page 42 - Activity 12

QU i W N =

Mommy
happy
hoops
umbrella
€gg

<Po.ge 43 - Activity 13 >

Reader’s own answers

Model answers

In picture a, Topsy is not happy. In picture b,
she 1s happy.

In picture a, Topsy is not running. She is
running in picture b.

Topsy and Tim are not winning in picture a,
but they are winning in picture b.

< Page 44 - Activity 14 >

Reader's own answers

(Page 45 - Activity 15 >

Reader’s own answers

Model answers

It was sports day at school. Mommy came to
school with Topsy and Tim. Topsy and Tim
were not good at hoops, and they did not come
first. They were not happy. Then, Topsy and
Tim ran together. They were very fast, and
they came first. They were very happy! They
came first together.

page 3



Copyright © Jean and Gareth Adamson, 2016

Topsy and Tim: The Big Race - Reader Answer Key

<Page 46 - Activity 16 )

The boy's shorts are colored blue.

The box in front of Topsy and Tim is

colored yellow.

The hair of the woman standing next to Topsy
is colored gray.

Topsy and Tim’s mommy's T-shirt is

colored orange.

Audio script
One (this is an example)

A: Can I color the picture?

B: Yes, you can.

B: There’s a boy standing next to Topsy
and Tim’s mommy. He has got yellow
hair and his arms are open.

A:1 can see him.

B: Color his shorts blue.

Two

A: The children are standing on boxes.
Can I color them?

B: Yes. Color the box in front of Topsy and
Tim. A boy is standing on it.

A: OK, I'll color it yellow.

Three

B: Can you see the woman standing next
to Topsy?

A: Is she wearing glasses?

B: Yes, she is. Color her hair gray.

The woman with the glasses has got
gray hair.

A: Gray? OK.

Four

A: What now?

B: Can you see Topsy and Tim’s mommy?

A: Yes.

B: Let’s color her T-shirt orange.

A: Good. I like orange!

page 4



